o )i i SR AR B 3 PR A ]

(2018 LRI 5 PR 1k AL SR W v )
T B 5 =R AT R B

— TREE BB IR AT BN 545 B

1. B2ARIEN

4 SIS KB ER | =28 RITATRUR | 8 =B SEBRal 1T AUk
WEE ) | ZEEEE D) EENEE ()
HEEHE AR (55 ) 2, 036, 500 814, 600 569, 340
78 2, 036, 500 814, 600 569, 340
2. ANAE|HEEHN AR

P55 iE R% Fs i 2 HR%
1 1A HHZE N T 29 Jite W 7] W2 N
2 el [l HZE RN 30 E1915% WS N
3 25 HHZE N T 31 TR A HEE N
4 (1S HHZE N T 32 e/ HEE N
5 A HEE RN G 33 BN W EE N R
6 PR HHZE N T 34 RiGZ RN R
7 BRI HHZE BN 7 35 W ek 1 W EE N R
8 Fh 555 HHZE N 36 T e HZE N
9 AL HHZE BN 7 37 F 4B HEE RN R
10 e HHZE N T 38 LA HZE N R
11 XIH RN 39 Je 6 HEE N R
12 TSy HEE N T 40 R HZE N R
13 T4%A HEE N G 41 N5 RN R
14 R N8 YNl 42 SRR RN R
15 S 1 e HHEE N T 43 pIES HZE N R
16 e HEE RN T 44 Bk HEE N R
17 TRIEL W2 E N 45 ISz W RN R
18 AR HEE RN T 46 AL % R E N R
19 jk3e W ZE RN 47 /N W EE BN D
20 5N HEE RN T 48 R4k W EE N R
21 X1 4 RN 49 A ca| HEE N R
22 bk HEEEA T 50 B K HEE N




23 = HEE BN T 51 WP HHEE N R
24 B HZE BN T 52 = HHEE RN R
25 eSS R BN G 53 Rt HHEE N R
26 Fi hEE BN 54 EE RN R
27 ik HEE BN T 55 T liite W E RN G
28 k)| BN D
TR A R 1 R T AR 5
1. SRS
s % RERIRRE M | =875l 8 3 = B bR AR RR 1
' BREHE (R | HIERERE (H’i) HRERE R
XA B Bk 50, 000 20, 000 20, 000
FREEE NG (28 N) 2, 350, 700 940, 280 761, 744
it 2, 400, 700 960, 280 781, 744
2. ANAEHEEFHANRL SR
Fs w4 R% Fs w4 R%
1 rER HEE BN T 15 SR R
2 Ha)g hEE BN G 16 F5 HHEE N R
3 AT R BN G 17 e EE HHEE N R
4 RN FZE BN 18 pES RN R
5 ke SRS YNl 19 A HHEE N R
6 MR/ HZE BN 20 Ll g HEE RN R
7 [iIA= hEE BN B 21 AR HHEE N R
8 X 48 =X YN 22 Tk AFR RN R
9 R 768 e =X YN 23 FHR L RN R
10 T aHesE HhEEE N 24 T e I HHEE N R
11 B AL 7 HEZE BN T 25 WA RN R
12 W RSN R 26 k) HEE RN R
13 = hEE BN G 27 T3 HEEE N R
14 RIS RSN R 28 2K HEE RN R




